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Agricultural production in abundance - living and farming in the temperate latitudes

On the Earth - differing habitats

Soil protection - help for the
USA's "dust bowl"

In the Great Plains, it took between 3,000 and
12,000 years to produce arable soil of a suf-
ficient depth. But it can be destroyed in just a
few years, or even days. What can be done to
protect the soil and cultivate it sustainably?

1. a) Describe the area shown in M2. Discuss in
particular how it is used.
b) Compare the usage of the areas that can be
seen in M2 and M5.
c) Indicate your assumptions about how these
usages show that measures are being tak-
en to protect the soil from erosion.

2. a) Assign the measures described in M4 to the

numbers in M1.

b) Produce a working model for each of the
measures. EEZD

c) For the pictures in M2 and M5, note down
new captions in your exercise book, using
the correct technical terms for the measures
that are used.

3. For each measure, produce a sketch with cap-
tions and a brief explanation.

@ 4. Evaluate the measures in terms of their sus-

tainability, by

A writing a text (M1, M2, M4 - M6).

B making a table showing the advantages
and disadvantages (M1, M2, M4 - M6).

m This measure is used to protect the soil in hilly
areas.

INTERNET

m You can see areas of circular irrigation here:
Google Maps Amarillo

You can see contour ploughing, strip crop-
ping and shelterbelts here:

Google Maps Clinton West Virginia
Diercke Kartenansicht Texhoma

A The aim of strip cropping, i.e. the planting of
different crops in strips, is to prevent the arable land
from being left unprotected from wind and water
after the harvest. The crops in the cultivated strips
are harvested at different times, so that at all times
only some of the strips are left fallow. If soil is blown
away from a strip after harvesting, it is caught and
retained by the crops in the neighbouring strips.

m This measure is used to protect the soil in flat areas.

B Shelterbelts are hedges that are laid out across
the main direction of the wind. Bushes and trees
are planted. On the one hand, shelterbelts re-
duce the speed of the wind by forming a barrier
against it. On the other hand, they can also trap
and collect soil that the wind has blown away.
Shelterbelts also produce a high level of moisture
in the soil near to the hedges.

C Afforestation is a soil protection measure that
is used especially on steeper slopes. The trees
hold the soil firmly with their roots. They ensure
that more water seeps into the soil, and they offer
good protection from erosion by the wind.

With this overhead irrigation system it is possible to
irrigate a circular area.

D Soil can be especially easily blown away when
itis dry. Irrigation systems keep the soil moist.
Irrigation can also compensate for insufficient or
irregular rainfall.

However, irrigation systems are expensive.

Even better soil protection is provided by the
combination of irrigation with the strip cultivation
of different crops.

E With contour ploughing, the fields are
ploughed parallel to the slope. Thus, furrows are
made parallel to the slope. These form a barrier
against water run-off.

Even better soil protection is provided by the
combination of contour ploughing with the

strip cultivation of different

m Possible measures to protect the soil

Areas with a drier climate, irregular rainfall and high
wind speeds

Areas with a wetter climate and greater differences
in height

e tasks, you can ...

Ily completed thes )
When you have successfully P aken to protect the soil

. Explain and evaluate measures th‘at can be't
and contribute to sustainable agrlcultur.e.
. Explain the technical terms strip cropping un

| | | d contour ploughing.
m Various methods can be used to counteract erosion by wind and water.

B il
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Landwirtschaftliche Produktion im Uberfluss - Leben und Wirtschaften in den gemaRigten Mittelbreiten

Auf der Erde - unterschiedliche Lebensraume

Bodenschutz - Hilfe fiir die
»Staubschiissel* der USA

3000 bis 12000 Jahre hat es gedauert, bis in
den Great Plains Ackerboden mit einer ausrei-
chenden Tiefe entstanden ist. Zerstort werden
kann er in wenigen Jahren oder sogar Tagen.
Was kann man tun, um den Boden zu schiitzen
und nachhaltig zu wirtschaften?

1. a) Beschreibe das in M2 abgebildete Gebiet.
Gehe insbesondere auf die Nutzung ein.
b) Vergleiche die Nutzung der Gebiete, die in
M2 und M5 zu sehen sind.
c) Notiere Vermutungen, inwiefern die
Nutzungen zeigen, dass es sich um Mal3-
nahmen zum Schutz vor Erosion handelt.

2. a) Ordne die beschriebenen MaRnahmen in
M4 den Ziffern in M1 zu.
b) Erstelle zu jeder MaBnahme ein Wirkungs-

gefliige. EEZD

c) Notiere zu den Abbildungen in M2 und M5
neue Bildunterschriften in dein Heft, in denen
du die entsprechenden Fachbegriffe fiir die
angewendeten MalRnahmen verwendest.

Fertige zu jeder MaRBnahme eine Skizze mit
Beschriftung und einer kurzen Erklarung an.

Bewerte die MaRnahmen im Hinblick auf

Nachhaltigkeit, indem du

A einen Text schreibst (M1, M2, M4 - M6).

B eine Tabelle mit Vor- und Nachteilen
anlegst (M1, M2, M4 - M6).

m In hiigeligen Gebieten wendet man diese

MaRnahme an, um den Boden zu schiitzen.

INTERNET

m Kreisfomig beregnete Flachen kannst du dir
hier ansehen:
Google Maps Amarillo

Konturpfligen, Strip Cropping und Wind-
schutzstreifen siehst du hier:

Google Maps Clinton West Virginia
Diercke Kartenansicht Texhoma

A Durch Strip Cropping, streifenformigen Anbau
unterschiedlicher Pflanzen, soll vermieden werden,
dass die Ackerflache nach der Ernte schutzlos Wind
und Wasser ausgeliefert ist. Die Pflanzen auf den
Anbaustreifen werden zu unterschiedlichen Zeiten
geerntet, sodass immer nur einzelne Streifen brach
liegen. Wird Boden vom abgeernteten Streifen aus-
geweht, bleibt er an den Pflanzen des benachbarten
Streifens hangen.

m In flachen Gebieten wendet man diese MaBnahme

an, um den Boden zu schiitzen.

B Windschutzstreifen werden quer zur Haupt-
windrichtung angelegt. Man pflanzt Busche und
Baume. Windschutzstreifen vermindern zum
einen die Windgeschwindigkeit, weil sie ein
Hindernis fur den Wind darstellen. Zum anderen
kann sich an ihnen Boden ablagern, der vom
Wind fortgeweht wurde. Windschutzstreifen
bewirken auch eine hohere Feuchtigkeit im Boden
in der Nahe der Hecken.

C Aufforstung ist eine MalRnahme zum Boden-
schutz, die insbesondere an steileren Hangen
angewendet wird. Die Baume halten mit ihren
Wurzeln den Boden fest, sie bewirken, dass mehr
Wasser in den Boden versickert und sie bieten
einen guten Schutz vor der Erosion durch Wind.

Mit dieser Beregnungsanlage kann man eine kreis-
formige Flache bewassern.

D Boden kann besonders gut fortgeweht werden,
wenn er trocken ist. Mit Bewasserungsanlagen
wird der Boden feucht gehalten. Durch Bewasse-
rung kann auch fehlender oder unregelmaBiger
Niederschlag ausgeglichen werden.

Allerdings sind die Bewasserungsanlagen teuer.
Noch besseren Bodenschutz bietet die Kombi-
nation von Bewasserung mit streifenformigem
Anbau unterschiedlicher Pflanzen.

E Beim Konturpfliigen werden die Felder parallel
zum Hang gepflugt. Dadurch werden Furchen
parallel zum Hang gezogen. Sie stellen ein
Hindernis flr abflieRendes Wasser dar.

Noch besseren Bodenschutz bietet die Kombina-
tion von Konturpfliigen mit streifenformigem
Anbau unterschiedlicher

Pflanzen.

m Mogliche MaRnahmen zum Bodenschutz

Gebiete mit trockenerem Klima, unregelmafigen
Niederschlagen und hohen Windgeschwindigkeiten

Gebiete mit feuchterem Klima und grof3eren
Hohenunterschieden
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Wenn du diese Aufgaben erfolgreich beqrbeitet hast, kan;s; ci)uS
. Mafsnahmen erldutern und bewerten, dlg zum Schutz d“eS ode

” und zum nachhaltigen Wirtschaften ergriffen Wfrden leolr?ﬁen.

. die Fachbegriffe Strip Cropping und Konturpfliigen erklaren.

m Es gibt mehrere Moglichkeiten, um der Erosion durch Wind und Wasser entgegenzuwirken.

B
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Land is used for buildings, roads
and railways, industry and
Grazing land is needed energy generation.

for animal husbandry.

How do we measure environmental pollution?
— rucksacks and footprints

When fossil fuels
are burned, CO2
is released into
the atmosphere.

Fishery needs good ]

. . fishing grounds.
Every person has an impact on the environment,

because he or she consumes water, food and raw
materials for example. Scientists have developed
graphic comparisons in order to measure this
environmental impact. One such measurement is
the ecological footprint.

Based on the ecological footprint, it is possi-

ble to calculate the so-called Overshoot Day.
This is the date on which humanity, through its
consumption, uses up precisely the quantity

of natural resources that nature is capable of
regenerating within a year. This date varies from The forestry industry

year to year. [needs woodland. ]

We only have one Earth, but we behave as if
we had many Earths. This is what we are told
by scientists who study the impact of humans
on the environment. But how can this environ-
mental impact be measured?

1. Describe how the total size of the ecological
footprint comes about (M5, M7).

2. Present the connections between the world
population, CO, emissions and the global eco-
logical footprint (M1).

Fertile land is needed
for cultivation.

3. Compare the ecological footprints of the se-

Source: Based on Global Footprint Network 36028EX_4
lected countries(M3).
(M3) m The footprints are getting larger, the Earth is not. m The ecological footprint
4. a) Describe how the Overshoot Day changes
(M2, M4). U
b) Explain what one can conclude from this Country Footprint Country Footprint The water footprint is used to work out how 2 842 mfyear Pogui;t\ion R (iﬁ;u'ﬂﬂﬂ'nv
change (M2, M4). Pakistan 0.8 hap.P. Germany 4.8 hap.P. great is the quantity of water per person that ‘Q’;ﬁﬁﬂmption 289 million Pertcapita o B82milion
o o o water
5. Work out your own ecological footprint with Afghanistan | 0.7 hap.P. | Luxembourg | 12.9 ha p.P. the inhabitants of a country use. This takes [ ) consumption E
the help on the internet. EX Bangladesh | 0.8 hap.P. USA 8.1 hap.P. into acco.unt not only the Water that is con- @ﬁ Water footprint
0 6 ) ) ; - Burundi 0.7 ha p.P. Australia 6.6 ha p.P. ;umed Q|rectly, but al§o the "virtual Water that : 117 billion m*/year
- Explain how environmental impact is "meas- is used in the production of food and industrial Water footprint
ured" with the aid of the ecological rucksack m i i i Hon iyear 1089 m*/year India
- County comparison of ecological footprints (2016) goods. Per capita Population
and water footprint (M8 -M11). China  “ater 1,051 billion
. consumption @ 051 billio
---------------------- e e : . 1071 m*/year Population
_________________________ ' Finally, scientists have developed a graphic Per capita o 1277bilion
"""" . Year Date Year Date g i
Formulation aids for Task 2 ' ' comparison to show the consumption of re- m};’lmption
With regard to the world population, it can be det‘erm/qegttﬁat.“ ' 1970 29 Dec. 2010 7 Aug. sources in the manufacture of a product, the
Comparing the development of the world populgtItOﬂ with e : 1980 4 Nov. 2015 5 Aug. ecological rucksack. Resources are consumed Water footprint
development of CO, emissions, it can be seen that ... ' h ot - e o 1145 billon m/year
. d to the ecological footprint, itis clear that ... . 1990 11 Oct. 2017 1 Aug. when a product IS manuractured, transporte Source: Hoekstra & Water footprint
With regar o ' ° Mekonnen 2012 1 368 billion m3/year © Westermann 23655EX_5
' 2000 V3 5 2019 29 Jul and disposed of. These are calculated as a

total weight for the product. This is then the m Comparison of the water footprint between coun-
product's ecological rucksack. tries

m Dates for the global Overshoot Day

. Ecological rucksack
World population

The objective of sustainable industry must be of a smartphone

m Ecological footprint
The calculation of the ecological footprint
assumes that every person consumes
resources: for his or her provision (energy,
water, food, consumer goods) as well as for

9.7
il | ““““““HH“N

(
80.0

the emissions that he or she causes (waste
O e aaer) " products, sewage, air pollution).
1.9 This consumption of resources is converted
into land surface areas in a complex calcula-
tion. The most important factor is the emis-
sion of the greenhouse gas CO,.

1Earth 1.7 Earths 3 Earths

How many Earths
does our thirst for
consumption use up

b,

INTERNET

m At www.fussabdruck.de or www.footprint-
deutschland.de you can work out your own
ecological footprint.

1970 2016

Westermann  23682EX_10

m The global ecological footprint

to make products that have a light ecological
rucksack. These are, for example, products
with a longer useful life or products that can be
easily recycled.

m Water footprint and ecological rucksack

Product Rucksack Product Rucksack
1 kg plastic 5kg 1 kg sugar 13 kg
1 kg paper 15 kg 1CD 1.6 kg
1 kg copper 05t 1 pair of jeans 32 kg
1 kg gold 550t Trainers 3.5kg
1 kg meat 17 kg 1.6tcar 70t

m The ecological rucksack of selected products

75.3 kg

Raw material extraction 35.4 kg
Usage 31.6 kg

Production 8.2 kg

Disposal 0.1 kg

Weight of a
smartphone

0.08 kg

© westermann 23751EX_2

m The ecological rucksack of a smartphone

leted these tasks, you can ...
When you have successfully comp 4 )
Deesgribe the development and effects of the global ecological footprint.

) 1 int.
.. Calculate your own ecologlcalfootprm
Present the objectives of the sustainable use of resources.
.. Explain the technical terms ecolo
water footprint and ecological rucksack.

gical footprint, Overshoot Day, resource,
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(] (] U G 3 ] )
Wie misst man Umweltbelastung? - indusie nd Encrdegemnnng
oo oo i i H WIrt an eansprucnt.
Von Rucksiacken und FuRabdriicken [E‘r‘éféﬁtvéfgﬁav'vtﬁﬁgeﬂachen.]
Beim Verbrennen

fossiler Energien
gelangt CO, in

[Die Fischerei braucht ]

Wir haben nur eine Erde, aber wir leben so, Jeder Mensch belastet die Umwelt, denn er die Atmosphére. gute Fanggriinde.
als ob wir mehrere Erden hitten. Das sagen verbraucht zum Beispiel Wasser, Nahrungsmittel

Forscherinnen und Forscher, die sich mit der und Rohstoffe. Forscher haben anschauliche Ver-

Umweltbelastung durch die Menschen beschif- gleiche en?wickelt, um die Umweltbflastun.g zu

tigen. Aber wie kann man diese Umweltbelas- messen. Ein Messverfahren ist der 6kologische

tung messen? FuBabdruck.

Anhand des okologischen FuRabdrucks lasst sich
der sogenannte Overshoot Day, der Erdiberlas-
tungstag, berechnen. Es ist der Tag, an dem die

Menschen durch ihren Konsum genau das an na-

1. Beschreibe, wie die GesamtgroRe des
okologischen FuBabdrucks entsteht (M5, M7).

Fur den Anbau wird
2. Stelle den Zusammenhang zwischen Welt- tlrlichen Ressourcen verbraucht haben, was sich ggﬁg:%atres Land
bevolkerung, CO,-Emissionen und globalem in der Natur innerhalb eines Jahres regenerieren Die Forstwirtechaft :
okologischen FuBabdruck dar (M1). kann. Dieser Termin andert sich von Jahr zu Jahr. [beansprucht w;§|der,]
Quelle: erstellt nach Global Footprint Network 36028EX_1
3. Vergleiche die dkologischen FuRabdriicke der
aus%ewéihlten L dgr B IY%] Die FuRabdriicke werden groRer, die Erde nicht. IY%] Der skologische FuBabdruck
4. a) Beschreibe, wie sich der Overshoot Day
.. . . . . 3
verandert (M2, M4). Land FuRBabdruck Land FuRabdruck Beim WasserfuBabdruck wird ermittelt, wie hoch ;Z)r?l%og‘f”ahr Be‘gﬁgung T De;etgltlz(zlrluangd
b) Erklare, was man aus dieser Veranderung Pakistan 0,8 ha p.P. | Deutschland | 4,8 hap.P. die Wassermenge ist, die pro Kopf von den Ein- vweils)ignch 289 Mio. Wo Kopf o 82 Mio.
c o o asser-
schlussfolgern kann (M2, M4). Afghanistan | 0,7 hap.P. | Luxemburg | 12,9 hap.P. wohnern eines Landes beansprucht wird. Dabei [ ] verbrauch

@ 5. Ermittle mithilfe des Internets deinen eigenen Bangladesch | 0,8 hap.P. USA 8,1 hap.P. V\,’.ird r?iChF nur das direkt verbrathte Wasser be- @jﬁ Wasserfubabdruck
Skologischen FuRabdruck. EZZ% Burundi 0,7 hap.P. | Australien | 6,6 hap.P. ruck5|c.ht|gt, sondern auch das V|rtuel’le Wasser, il 117 Mrd. m3/Jahr

das bei der Herstellung von Lebensmitteln und 821 Mrd. m*/Jahr )

O 6. Erlautere, wie die Umweltbelastung mithilfe m Okologischer FuBabdruck im Léndervergleich (2016) Industriegutern verbraucht wird. :)r%sl?ol::”ahr B:Cii‘lilzgﬂng
des okologischen Rucksacks und des Wasser- SchlieRlich haben Forscher einen anschaulichen China VW;IS;:Lch 1,051 Mrd.
fuBabdrucks ,gemessen® wird (M8-M11). Vergleich entwickelt, um den Ressourcenver- 1071 m*/Jahr Bf‘z";';‘i;“gg

Jahr Datum Jahr Datum brauch bei der Herstellung eines Produkts zu :WEISEE; 2

Formulierungshilfen zu Aufgabe 2 ' 1970 29. Dez. 2010 7. Aug. verdeutlichen, den 6kologischen Rucksack.

. 5 - tellen, dass .. ' 1980 4 N 2015 5 A Bei der Herstellung, dem Transport und der
Beziiglich der Weltbevolkerung ist festzustell . icklung ! . Nov. . Aug. 9, p WasserfuBabdruck
. ; i der Weltbevélkerung mit der Entwicrlung . 1145 Mrd. m3/Jah
ZergégcZ:t'nrﬂrllizgijéee:niivrlzcslgggen‘,ardases : 1990 11. Okt. 2017 1. Aug. Entsorgung eines Produkts werden Ressourcen Ouse fonars, - Vo 'Wesmnrn
InerBeztjg auf den b'k;)Iogischen FuRabdruck wird deutlich, dass ... ': 2000 i Sam 2019 29. Jul. verbraucht. !I)lesej'.werden umgerechn.et In ein rd. m*/Jahr -
E Gesamtgewicht fur das Produkt. Das ist dann der m Der WasserfuBabdruck im Landervergleich

------------------------------------- m Daten fiir den globalen Overshoot Day okologische Rucksack des Produkts.

Ziel einer nachhaltigen Industrie muss sein,
Weltbevélkerung Produkte mit einem leichten okologischen
(in Milliarden)

97
76 . m Rucksack herzustellen. Das sind zum Beispiel

37 m Okologischer FuBabdruck Produkte mit einer langen Lebensdauer oder
Die Berechnung des ckologischen Fulab- Produkte, die gut wiederverwertet werden
drucks geht davon aus, dass jeder Mensch BRAER.
Ressourcen verbraucht: fur seine Versorgung

CO,-Emission pro Jahr
in Gigatonnen) 36,7

Okologischer Rucksack
eines Smartphones

75,3 kg

Rohstoffgewinnung 35,4 kg

Nutzung 31,6 kg
Produktion 8,2 kg
Entsorgung 0,1 kg

. - Eigengewicht
(Energie, Wasser, Nahrung, Konsumgjiter) Somartn

eines Smartphones
sowie fiir die von ihm verursachten Emissio- m WasserfuRabdruck und ékologischer Rucksack 0,08 kg
nen (Abfalle, Abwasser, Luftverschmutzung).

1.9 Dieser Verbrauch an Ressourcen wird in ei-
L)

80,0

© westermann 23751Ex_1

nem komplizierten Rechenverfahren in Land- m Okologischer Rucksack eines Smartphones
flache umgerechnet. Wichtigster Faktor ist Produkt Rucksack Produkt Rucksack
1Erde 17 Erden 3 Erden dabei der AusstoR des Treibhausgases CO,. 1 kg Kunststoff | 5kg 1 kg Zucker 13kg e
1 kg Papier 15k 1CD 1,6k : o i lgreich bearbeitet hast, kannst du ...

Wie viele Erden 9"ap 2 3 . Wenn du d'.ese Aufgab; ' :r)(s?A/:gr,l;‘Z’ngen des globalen Gkologischen

verschlingt unser 1 kg Kupfer 05t 1 Jeans 32 kg ' ... die Entwicklung und die Au

Konsumhunger? R 1 kg Gold 5500 || Leuiedind 35k ,  Fufabdrucks beschrelben. |k berechnen

’ o aurschunhe g ' ; 5 ischen FuRabdruck berechnen.
1970 2016 2050 m Jnter wiw. fussabdruck de oder www. 1k gF| isch 17 k 1,6t Pk 70 tg v ;enl e’g‘inerr,lc?fhofi?ﬁtlis;ene;e;ﬁurcennutzung darstellen.
g H v ... Zleleel
© Westermann_zeece ewitgrint-cluisdizmelcle lennst (U elemsn 9T ° ’ " ' die Fachbegriffe 6kologischer FuBabdruck, Overshoot Day, Ressource,

m Der globale 8kologische FuRabdruck eigenen okologischen FuBabdruck ermitteln. :

6 i ksack erklaren.
m Okologischer Rucksack von ausgewéhlten Produkten WasserfuBabdruck und Skologischer Rucks
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Agricultural production in abundance - living and farming in the temperate latitudes

On the Earth - differing habitats

Soil protection - help for the
USA's "dust bowl"

In the Great Plains, it took between 3,000 and
12,000 years to produce arable soil of a suf-
ficient depth. But it can be destroyed in just a
few years, or even days. What can be done to
protect the soil and cultivate it sustainably?

1. a) Describe the area shown in M2. Discuss in
particular how it is used.
b) Compare the usage of the areas that can be
seen in M2 and M5.
c) Indicate your assumptions about how these
usages show that measures are being tak-
en to protect the soil from erosion.

2. a) Assign the measures described in M4 to the

numbers in M1.

b) Produce a working model for each of the
measures. EEZD

c) For the pictures in M2 and M5, note down
new captions in your exercise book, using
the correct technical terms for the measures
that are used.

3. For each measure, produce a sketch with cap-
tions and a brief explanation.

@ 4. Evaluate the measures in terms of their sus-

tainability, by

A writing a text (M1, M2, M4 - M6).

B making a table showing the advantages
and disadvantages (M1, M2, M4 - M6).

m This measure is used to protect the soil in hilly
areas.

INTERNET

m You can see areas of circular irrigation here:
Google Maps Amarillo

You can see contour ploughing, strip crop-
ping and shelterbelts here:

Google Maps Clinton West Virginia
Diercke Kartenansicht Texhoma

A The aim of strip cropping, i.e. the planting of
different crops in strips, is to prevent the arable land
from being left unprotected from wind and water
after the harvest. The crops in the cultivated strips
are harvested at different times, so that at all times
only some of the strips are left fallow. If soil is blown
away from a strip after harvesting, it is caught and
retained by the crops in the neighbouring strips.

m This measure is used to protect the soil in flat areas.

B Shelterbelts are hedges that are laid out across
the main direction of the wind. Bushes and trees
are planted. On the one hand, shelterbelts re-
duce the speed of the wind by forming a barrier
against it. On the other hand, they can also trap
and collect soil that the wind has blown away.
Shelterbelts also produce a high level of moisture
in the soil near to the hedges.

C Afforestation is a soil protection measure that
is used especially on steeper slopes. The trees
hold the soil firmly with their roots. They ensure
that more water seeps into the soil, and they offer
good protection from erosion by the wind.

With this overhead irrigation system it is possible to
irrigate a circular area.

D Soil can be especially easily blown away when
itis dry. Irrigation systems keep the soil moist.
Irrigation can also compensate for insufficient or
irregular rainfall.

However, irrigation systems are expensive.

Even better soil protection is provided by the
combination of irrigation with the strip cultivation
of different crops.

E With contour ploughing, the fields are
ploughed parallel to the slope. Thus, furrows are
made parallel to the slope. These form a barrier
against water run-off.

Even better soil protection is provided by the
combination of contour ploughing with the

strip cultivation of different

m Possible measures to protect the soil

Areas with a drier climate, irregular rainfall and high
wind speeds

Areas with a wetter climate and greater differences
in height

e tasks, you can ...

Ily completed thes )
When you have successfully P aken to protect the soil

. Explain and evaluate measures th‘at can be't
and contribute to sustainable agrlcultur.e.
. Explain the technical terms strip cropping un

| | | d contour ploughing.
m Various methods can be used to counteract erosion by wind and water.

B il
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